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PRE-CALCULUS 11

Ch 5-—Day4: RADICAL EQUATIONS

RADICAL EQUATIONS

A radical equation has radical(s) with the variable (e.g., x) in the radicand.

Ex: 9- . /x+5 =2

The solution of any equation is all values of the variable that satisfy the equation.
Since there is a square root of a variable expression, there may be restrictions on

the radicand. (You can’t take the sq

LUl d

negative number!)

To find the restriction: 1) Set the radicand to’O 2) Isolate x to get restriction on x.
Ex: Given 9 — \/@ = 2, setradicand x + 5= 0. The restriction is .. x > 5.

SOLVING RADICAL EQUATIONS ALGEBRAICALLY

Radical equations are easier to solve without the radical.

Example 1: Solve 9 —

o State restrictions on x
o Isolate the square root.
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o Square both sides of the equation.

o Simplify.
o Solve for x .

o Check root against restriction.

o Check root by plugging

@ Check dilh&+ CShrch

into equation.
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EXTRANEOUS ROOTS ﬁa)ls a %’

An extrancous rootis a value the algebraic steps may produce as roots; however it does
not satisfy the original equatio d so cannot be a root. ~Va
SO ALWAYS CHECK the roots} REJECT any extraneous roots!! @@
Example 2: Solve @—x =3 X4+v 20 Can'd b’“d'{
..r Ny
|
o StateQestrictiog; onx —
o lIsolate the square root. =93¢ -x =3 @ Taolole /—
+1 +Z
o Square both sides of the equation.
o Simplify. 4T = X 43
ol (§ 7ie) = (13 ° SM;’Z? o
o Solve forx. 4 = FEH6z4q (a+b)°= a*taahts*
-x -5 < 5 +b
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@ o Check root against restriction.
o Check root by plugging into equation.
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Example 3: Solve V2x—1—x = -2

Restet ™ +7 +x
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Assignment: Solving Radical Equations Worksheet (circled questions)

4 Ch 5 Radicals Page 4



c)2x —/5-2x = -7
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b)19 -2

1-3x =11



